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BACHELOR'S DEGREE PROGRAMME 

r,1 	 Term-End Examination 

June, 2013 

ELECTIVE COURSE : COMMERCE 

ECO-13 : BUSINESS ENVIRONMENT 

Time : 2 hours 
	

Maximum Marks : 50 

(Weightage 70%) 

Note : Attempt any four questions including question No. 1 

which is compulsory. 

1. 	Attempt any four of the following questions : 5x4=20 

(a) Distinguish between Public Sector and 

Private Sector. 

(b) Explain the significance of business 

environment. 

(c) State the arguments in favour of social 

responsibility of business. 

(d) Distinguish between economic growth and 

economic development. 

(e) What have been the main reasons for 

government regulation of business ? 

(f) State any five functions of WTO. 
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2. Discuss the various components of globalisation. 	10 

Explain the merits of globalisation from the point 

of view of India's economic development. 

3. Discuss the causes of industrial sickness. Examine 10 

the Government policy in relation to industrial 

sickness in India. 

4. Discuss the various forms of foreign capital flows. 	10 

Do you think entering of MNCs in less developed 

countries is risky ? 

5. Explain the significance of small scale sector in 	10 

India and outline the major problems faced by 

the small scale units. 

6. Explain the mechanism of exchange rate 10 

determination and state the role of Reserve Bank 

of India in supporting the Indian Rupee. 

7. Discuss the progress made and the problems faced 10 

in the implementation of New Economic Policy, 

1991. 
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